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Directions (Q. 16-20):- Direction for Question

Study the following line-chart and table carefully and answer the questions given 

below. Percentagewise distribution of the number of mobile phones sold by a 

shopkeeper during six years. निम्ननिखित रेिा-चार्ट और तानिका का ध्यािपूर्टक अध्ययि

करें और िीचे निए गए प्रश्न ों के उत्तर िें। एक िुकाििार द्वारा छ: र्र्षों के िौराि बेचे गए

मनबाइि फनिन ों की सोंख्या का प्रनतशतर्ार नर्तरण।
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(A)153:119 (B)135:129 (C)129:135 (D) 119:135 (E) 135:119

Q.16 :- What is the ratio of the number of mobile phones sold by Samsung Company in the 
year 2012 to those sold in the year 2017 of the same company?
र्र्षट 2012 में सैमसोंग कों पिी द्वारा बेचे गए मनबाइिफनिकी सोंख्या का उसी कों पिी के र्र्षट 2017 
में बेचे गए मनबाइिफनि से अिुपात नकतिा है?
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(A)10000 (B)9500 (C) 9000 (D)12000 (E) 10010

Q.17 :- What is the total number of mobile phones sold by Samsung Company in the year 
2013 and 2014 together?
र्र्षट 2013 और 2014 में सैमसोंग कों पिी द्वारा बेचे गए मनबाइिफनिकी कुि सोंख्या नकतिी है?
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(A)659500 (B) 649050 (C)649500 (D)645900 (E) 649005

Q.18:- If the shopkeeper earned a profit of ₹ 433 on each mobile phone sold by Samsung 
Company in the year 2015, what was his total profit earned on the mobile phones of that 
company in the same year?
यनि िुकाििार िे र्र्षट 2015 में सैमसोंग कों पिी द्वारा बेचे गए प्रते्यक मनबाइिफनि पर ₹ 433 का
िाभअनजटत नकया, तन उसी र्र्षट उस कों पिी के मनबाइिफनि पर उसका कुि िाभ नकतिा था?
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(A)120% (B)125% (C)130% (D)140% (E) 135%

Q.19 :- The number of mobile phones sold by Apple Company in the year 2012 is 
approximately what per cent of the number of mobile phones sold by Apple Company in the 
year 2017? र्र्षट 2012 में Apple कों पिी द्वारा बेचे गए मनबाइिफनिकी सोंख्या, र्र्षट 2017 में Apple 
कों पिी द्वारा बेचे गए मनबाइिफनिकी सोंख्या का िगभग नकतिा प्रनतशत है?
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(A)1538 (B)1683 (C)1538 (D)1600 (E)1638

Q.20 :- If 35% of the mobile phones sold by Apple Company in the year 2016 were sold at a 
discount, how many mobile phones of Apple Company in the same year were sold without a 
discount? यनि र्र्षट 2016 में Apple कों पिी द्वारा बेचे गए 35% मनबाइिफनि छूर् पर बेचे गए, तन
उसी र्र्षट Apple कों पिी के नकतिे मनबाइिफनि नबिा छूर् के बेचे गए?
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(A)3240 (B) 3570 (C) 3830 (D)3990 (E)4210

What approximate value  should come in the place of question mark(?)in the following 
questions.

√ 84111 + 54.78² = ?

E04613
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(A) 2511 (B)2372 (C)2452 (D)2349 (E)2486

What approximate value  should come in the place of question mark(?)in the following 
questions.

115% of 624 + 2/7 of 419 +47² ÷ 3.25 × 2.5 = ?

E04613
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(A)4127 (B)3684 (C)3835 (D)3660 (E)3743

What approximate value  should come in the place of question mark(?)in the following 
questions.

54.35 ×39.87 ÷ 13.35 + √ 3219 × √ 4178 = ?

E04613
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(A) 13 (B) 18 (C) 3 (D)26 (E)7

What approximate value  should come in the place of question mark(?)in the following 
questions.

(7171 + 3854 + 1195) ÷ (892+ 214 + 543 ) = ?

E04613
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(A) 4 (B)5 (C)6 (D)3 (E)1

What approximate value  should come in the place of question mark(?)in the following 
questions.

(47% of 1442 − 36% of 1412 ) ÷ 63 = ?

E04613
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(A) 700 (B) 171 (C)52 (D)3515 (E)19

E04613

Find the wrong term in the given series  

11.   13    , 19  ,52 , 171  , 700 , 3515  
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(A) 87 (B)54 (C)117 (D)149 (E)185

E04613

Find the wrong term in the given series  

12.  32 ,  54 ,  87  , 117    , 149 , 185   
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(A)442 (B)437 (C)477 (D)467 (E)547

E04613

Find the wrong term in the given series  

13.    547 , 467 , 477 , 437 , 447 ,  442    
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(A)133 (B)179 (C)250 (D)340 (E)455

E04613

Find the wrong term in the given series  

14.   110 , 133 , 179 , 250 ,  340 , 455  
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(A) 71 (B)41 (C)34.5 (D)21 (E)180

E04613

Find the wrong term in the given series  

15.  41 , 21  , 21 , 34.5 , 71 , 180   

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)4000 (B)4500 (C)3500 (D)7500 (E)None of these

Q.21 :- A and B started a business with initial investment in the respective ratio of 5:8. After 
four months from the start of the business, A invests Rs. 3000 more and after two more 
months B invested Rs. 2000 more. If ratio of profit share of A and B is 7:9 after a year, then 
what was A's initial investment? (in Rs.)
A और B िे 5:8 के सोंबोंनित अिुपात में प्रारों नभक निरे्श के साथ एकव्यर्साय शुरू नकया। व्यर्साय शुरू हनिे के
चार महीिे बाि, A 3000 रुपये अनिक निरे्श करता है और िनऔर महीिन ों के बाि B िे 2000 रुपये अनिकका निरे्श
नकया। यनि एक र्र्षट बाि A और B के िाभ नहसे्स का अिुपात 7:9 है, तन A का प्रारों नभक निरे्श नकतिा था? (रुपये में)
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(A)1500 (B)3000 (C)2500 (D)2000 (E)None of these

Q.22 :- The strength of students at Mahendras is 8000. The number of boys and girls is 
increased by 15% and 20% respectively. As a result, the strength becomes 9350. Find the 
difference between the number  of boys and girls in Mahendras .
महेंद्रस में छात्न ों की सोंख्या 8000 है। िड़कनोंऔर िड़नकयन ोंकी सोंख्या में क्रमशः 15% और 20% 
की रृ्खि हुई है। ितीजति, ताकत 9350 हन जाती है। महेंद्र में िड़केऔर िड़नकयन ोंकी सोंख्या के
बीच का अोंतर पाएों ।
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(A)30 (B)35 (C)36 (D)34 (E)None of these

Q.23 :- The average age of a family of 5 members was 28 years. 4 years later, the oldest 
member of the family died at the age of 60. On the same day, a child was born in the family. 
What would be the average age of the family12 years after the death of the oldest member? 
(in years) 5 सिस्नों के एक पररर्ार कीऔसतआयु 28 र्र्षट थी। 4 साि बाि, पररर्ार के सबसे बडे़ सिस्की 60 
र्र्षट कीआयु में मृतु्य हन गई। उसी निि, पररर्ार में एक बचे्च का जन्म हुआ।सबसे रृ्ि सिस्की मृतु्य के 12 र्र्षट
बाि पररर्ार कीऔसतआयुक्या हनगी? (र्र्षों में)
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(A) 12% (B)10% (C)20% (D)25% (E)None of these

Q.24 :- A shopkeeper marked the price of a book above 60% of its cost price and gives two 
successive discounts of x%, he still makes a profit of 15.6%. Find the value of x.

एक िुकाििार एक पुस्तकका मूल्य उसके क्रय मूल्य के 60% से अनिकअोंनकतकरता है और
x% की िन क्रमागत छूर् िेता है, नफर भी उसे 15.6% का िाभ हनता है। एक्सका माि ज्ञात करें।
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(A) 25.8 (B) 25.1 (C)26.3 (D)25.5 (E) None of these

Q.25 :- Raman can do a piece of work in 45 days and Anju can do same work in 75 days. 
After working together for 12 days, Anju stop working. How many days Raman will take to 
complete the work that is left?
रमि एककाम कन 45 नििन ों में कर सकता है और अोंजू उसी कामकन 75 नििन ों में कर सकती है।
12 नििन ों तक एकसाथकाम करिे के बाि अोंजू िे काम करिा बोंि कर निया। रमि बचे हुए काम
कन पूरा करिे में नकतिे निि िेगा?
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(A)1650 (B)1600 (C)1550 (D)1500 (E)None of these

Q.16 :- Ravi and Pawan  invested in a business in the ratio 10:13. What is the total profit, if 
Pawan's profit share is Rs.832 and 8% of the total profit goes to charity?

रनर्और पर्ि िे एकव्यर्सायमें 10:13 के अिुपात में निरे्श नकया। यनि पर्िका िाभ नहस्सा
832 रुपये हैऔर कुििाभका 8% िाि में जाता है, तन कुििाभक्या है?
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(A)151 (B)153 (C)155 (D)157 (E)158

\
Q.17 :- The sum of three consecutive odd numbers and three consecutive even numbers 
together is 471. Also, the largest even number is 15 more than the largest odd number. What 
is the sum of the smallest odd number and the smallest even number? तीि क्रमागत नर्र्षम
सोंख्याओोंऔर तीि क्रमागत सम सोंख्याओों का एक साथ यनग 471 है। साथ ही, सबसे बड़ी सम
सोंख्या सबसे बड़ी नर्र्षम सोंख्या से 15 अनिक है। सबसे छनर्ी नर्र्षम सोंख्याऔर सबसे छनर्ी सम
सोंख्या का यनगक्या है?
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(A)62.5 (B)65 (C)72.5 (D) 87.5 (E)None of these

Q.18 :- In an examination, 75% students passed from school A. The number of students 
appeared from school B is 20% more than that of A and the total number of students who 
passed the examination is 40% more than the number of students passed from A. Whatis
the percentage of students passed to those who appeared from B?
एक परीक्षा में, सू्कि A से 75% छात् उत्तीणट हुए। सू्कि B से उपखथथत हनिे र्ािे छात्न ों की सोंख्या A की तुििा में 20% 
अनिक है और परीक्षा उत्तीणट करिे र्ािे छात्न ों की कुि सोंख्या A से उत्तीणट छात्न ों की सोंख्या से 40% अनिक है। B से
उपखथथत हनिे र्ािन ों की तुििा में उत्तीणट छात्न ों का प्रनतशतक्या है?
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(A)2400 (B)2500 (C)2700 (D)2860 (E)None of these

Q.19 :- The percentage profit earned by selling an article for 2076 is equal to the percentage 
loss incurred by selling the same article for 1524. At what price  should the article be sold to 
earn a profit of 33 1/3%?
एक र्सु्त कन 2076 में बेचिे पर अनजटत प्रनतशत िाभ उसी र्सु्त कन 1524 में बेचिे पर हुई हानि
प्रनतशत के बराबर है। 33 1/3% का िाभअनजटत करिे के निए र्सु्त कन नकस मूल्य पर बेचा
जािा चानहए?
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(A)2400 (B)2480 (C)2500 (D)2560 (E)None of these

Q.20 :- A certain sum amounts to 6352.50 in  2 1/2 years at 10% p.a. compound interest, 
interest compounded yearly. What will be the simple interest on the same sum for double 
the time at the same rate of interest? (in Rs.) एक निनित रानश 10% प्रनत र्र्षट की िर से 2 1/2 
र्र्षों में 6352.50 हन जाती है। चक्ररृ्खिब्याज, र्ानर्षटक चक्ररृ्खिब्याज।समाि रानश परसमाि
ब्याजिर पर िुगिे समय परसािारणब्याज नकतिा हनगा? (रुपये में)
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Directions (Q. 24-28):-Direction for Question
Study the following table chart carefully and answer the questions given below

A company produces five types of shirts A, B, C, D and E, using cloth of three qualities-High, Medium 

and low, using dyes of three qualities-High, Medium and Low. One shirt requires 1.5 m of cloth. The 

following table gives respectively:

I. The number of shirts (of each category) produced, in thousands

II. The percentage distribution of cloth quality in each type of shirt, and 

III. The percentage distribution of dye quality in each type of shirt. 

निम्न तानिका चार्ट का अध्ययि कीनजयेऔर निये गये प्रश्न ों के उत्तर िीनजये।

एककों पिी, तीि गुणर्त्ता के कपड़न ों-उच्च, मध्यमऔर निम्न तथा तीि गुणर्त्ता की डाई- उच्च, मध्यमऔर निम्न का उपयनग

करते हुये पाोंच प्रकार के शर्ट- A, B, C, D और E का उत्पािि करती है। एक शर्ट के निये 1.5 मीर्र कपडे़ की आर्श्यकता हनती

है। निम्न तानिका में इसका नर्र्रण क्रमशः निया गया है:

। उत्पानित शर्ट (प्रते्यक शे्रणी) की सोंख्या हजारन ों मेंहै।

II. प्रते्यक प्रकार की शर्ट में कपडे़ की गुणर्त्ता का प्रनतशत नर्तरण, औरशर्ट का प्रकार

III. प्रते्यक प्रकार की शर्ट में डाई की गुणर्त्ता का प्रनतशत नर्तरण ।
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Directions (Q. 24-28):-Direction for Question
Study the following table chart carefully and answer the questions given below

A company produces five types of shirts A, B, C, D and E, using cloth of three qualities-High, Medium 

and low, using dyes of three qualities-High, Medium and Low. One shirt requires 1.5 m of cloth. The 

following table gives respectively:

I. The number of shirts (of each category) produced, in thousands

II. The percentage distribution of cloth quality in each type of shirt, and 

III. The percentage distribution of dye quality in each type of shirt. 

No. of shirts Distribution of cloth % Distribution of dye %

Shirt 
type

Number
(000)

Shirt 
type

High Medium low Shirt 
type

High Medium Low

A 20 A 80 20 - A 70 15 15

B 30 B 30 40 30 B 20 50 30

C 30 C - 70 30 C - 60 40

D 10 D - 60 40 D - 40 60

E 10 E - 10 90 E - 20 80
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(A)150000m (B)200000m (C)225000m (D)250000m (E) 304000m

Q.24 :- What is the total requirement of cloth?

कपडे़की कुिआर्श्यकताक्या है?

No. of shirts Distribution of cloth % Distribution of dye %

Shirt 
type

Number
(000)

Shirt 
type

High Medium low Shirt 
type

High Medium Low

A 20 A 80 20 - A 70 15 15

B 30 B 30 40 30 B 20 50 30

C 30 C - 70 30 C - 60 40

D 10 D - 60 40 D - 40 60

E 10 E - 10 90 E - 20 80
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(A)22500m (B)35400m (C)46500m (D)60000m (E)40000m

Q.25 :-How many meters of low-quality cloth are consumed?

कम गुणर्त्ता र्ािे कपडे़ का नकतिे मीर्र प्रयनग नकया गया है?

No. of shirts Distribution of cloth % Distribution of dye %

Shirt 
type

Number
(000)

Shirt 
type

High Medium low Shirt 
type

High Medium Low

A 20 A 80 20 - A 70 15 15

B 30 B 30 40 30 B 20 50 30

C 30 C - 70 30 C - 60 40

D 10 D - 60 40 D - 40 60

E 10 E - 10 90 E - 20 80
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(A)8000m (B)12000m (C)24000m (D)30000m (E)35900m

Q.26:-How many meters of high-quality cloth is consumed by A-shirts? 

A-शर्ट बिािे में नकतिे मीर्र उच्च गुणर्त्ता र्ािे कपडे़ का उपयनग हुआ है?

No. of shirts Distribution of cloth % Distribution of dye %

Shirt 
type

Number
(000)

Shirt 
type

High Medium low Shirt 
type

High Medium Low

A 20 A 80 20 - A 70 15 15

B 30 B 30 40 30 B 20 50 30

C 30 C - 70 30 C - 60 40

D 10 D - 60 40 D - 40 60

E 10 E - 10 90 E - 20 80
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(A)2:3:5 (B)1:2:5 (C)7:9:10 (D)5:7:10 (E) CND

Q.27 :- What is the ratio of the three qualities of dyes in high-quality cloth?

उच्च गुणर्त्ता र्ािे कपडे़ में तीिन ों गुणर्त्ताकी डाईकाअिुपातक्या है?

No. of shirts Distribution of cloth % Distribution of dye %

Shirt 
type

Number
(000)

Shirt 
type

High Medium low Shirt 
type

High Medium Low

A 20 A 80 20 - A 70 15 15

B 30 B 30 40 30 B 20 50 30

C 30 C - 70 30 C - 60 40

D 10 D - 60 40 D - 40 60

E 10 E - 10 90 E - 20 80
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(A)9000 (B)12000 (C) 13500 (D)14000 (E)14060

Q.28:- How many meters of low-quality cloth is consumed by B-shirts?

B-शर्ट द्वारा नकतिे मीर्रकम गुणर्त्ता र्ािे कपडे़ का उपयनग हुआ है?

No. of shirts Distribution of cloth % Distribution of dye %

Shirt 
type

Number
(000)

Shirt 
type

High Medium low Shirt 
type

High Medium Low

A 20 A 80 20 - A 70 15 15

B 30 B 30 40 30 B 20 50 30

C 30 C - 70 30 C - 60 40

D 10 D - 60 40 D - 40 60

E 10 E - 10 90 E - 20 80
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Directions (Q. 16-20):-Study the following information carefully and answer the 

questions asked

The following table shows the population of three cities from 2013 to 2018 (in 

thousands) and difference of male and female population in same city. 

निम्ननिखित जािकारी का ध्यािपूर्टक अध्ययि करें और पूछे गए प्रश्न ों के उत्तर िें निम्न तानिका

2013 से 2018 तक तीि शहरन ों की जिसोंख्या (हजारन ों में) और एक ही शहर में पुरुर्ष और

मनहिा आबािी के अोंतर कन िशाटती है।

Year Total Population
(Male + Female)

Difference of Population
(male − female)

A B C A B C

2013 120 100 50 0 40 30

2014 140 120 60 -44 40 30

2015 136 140 64 4 28 12

2016 156 136 70 -4 4 14

2017 180 156 80 -52 -4 0

2018 200 170 84 -88 -30 -12
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(A)180 (B)162 (C)160 (D)175 (E)None of these

Q.16 :- What is the difference between the females in City B from year 2013 and males from 
year 2015 (in thousands)?
र्र्षट 2013 से शहर B में मनहिाओोंऔर र्र्षट 2015 से पुरुर्षन ों (हजारन ों में) के बीच नकतिा अोंतर है?

Year Total Population
(Male + Female)

Difference of Population
(male − female)

A B C A B C

2013 120 100 50 0 40 30

2014 140 120 60 -44 40 30

2015 136 140 64 4 28 12

2016 156 136 70 -4 4 14

2017 180 156 80 -52 -4 0

2018 200 170 84 -88 -30 -12
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(A)25000 (B)30000 (C)22000 (D)28000 (E)None of these

Q.17 :- What is the average number of females in city C over the years except 2014 and 
2017?
2014 और 2017 कन छनड़कर र्र्षों में शहर C में मनहिाओों कीऔसत सोंख्या नकतिी है?

Year Total Population
(Male + Female)

Difference of Population
(male − female)

A B C A B C

2013 120 100 50 0 40 30

2014 140 120 60 -44 40 30

2015 136 140 64 4 28 12

2016 156 136 70 -4 4 14

2017 180 156 80 -52 -4 0

2018 200 170 84 -88 -30 -12
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(A)5: 7 (B)6:7 (C)8:7 (D)5:3 (E)None of these

Q.18 :-What is the ratio between the males from city A in year 2017 and females form city B 
in year 2015?
र्र्षट 2017 में शहर A से पुरुर्षन ोंऔर र्र्षट 2015 में शहर B से मनहिाओों का अिुपात नकतिा है?

Year Total Population
(Male + Female)

Difference of Population
(male − female)

A B C A B C

2013 120 100 50 0 40 30

2014 140 120 60 -44 40 30

2015 136 140 64 4 28 12

2016 156 136 70 -4 4 14

2017 180 156 80 -52 -4 0

2018 200 170 84 -88 -30 -12
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(A)40% (B)50% (C)60% (D)65% (E)None of these

Q.19 :- Total number of males from city A in 2017 is what percent more than the females 
from city C in 2017?
2017 में शहर A से पुरुर्षन ों की कुि सोंख्या 2017 में शहर C से मनहिाओों की तुििा में नकतिे
प्रनतशत अनिक है?

Year Total Population
(Male + Female)

Difference of Population
(male − female)

A B C A B C

2013 120 100 50 0 40 30

2014 140 120 60 -44 40 30

2015 136 140 64 4 28 12

2016 156 136 70 -4 4 14

2017 180 156 80 -52 -4 0

2018 200 170 84 -88 -30 -12
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(A)71000 (B)69000 (C)75000 (D)72000 (E) None of these

Q.20 :-Males from city C in 2014 and females from city C in 2015 together is-

2014 में शहर C से पुरुर्षऔर 2015 में शहर C से मनहिाएों एक साथ हैं-

Year Total Population
(Male + Female)

Difference of Population
(male − female)

A B C A B C

2013 120 100 50 0 40 30

2014 140 120 60 -44 40 30

2015 136 140 64 4 28 12

2016 156 136 70 -4 4 14

2017 180 156 80 -52 -4 0

2018 200 170 84 -88 -30 -12
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